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e a (g/100g)

s ag oz @ oz zemug
xR
oz 42| 3.61£0.04 8.81£0.03 0.10£0.01 2.48+0.03 85.00+0.06
=S
s 242 4.53+0.03 8.58+0.04 0.17£0.03 2.29£0.02 84.45+0.09

pS[=h

el Ca K Mg Na P

Hx Y
cE= a2 201028 2507.4+24.09 99.3+0.74 4.0£030 4.1+050 280.4+0.83
Hx 22 281034  950.9+6.78  52.6+2.01 11.2£2.26 4.0+£030 194.7£0.98

a3t L Viscosity (cP)
2ot E(7) —
HX 2 XD S3RE Breakdown Setback
gz F22] 69.10£0.10 342.00+£3.46 24.67+2.08 34.33+0.58
az 2] 58.40+0.78 455.3312.31 172.67£1.56 66.33+2.89

* setback viscosity: 22 L3t E4 2 AH, S22 LIIHY 24

I FAE, LA, oY, EHE
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